
1 

906063  SCG1406 ASSEMBLY INSTRUCTIONS   DOC-26979  A02  05/2017 

SCG1406 
STORAGE TROLLEY 



2 

1 

10 

9 

8 

7 

6 

5 

4 

3 

2 

11 



3 

ITEM PART DESCRIPTION QTY 

1 905225 5LTR PAIL( RED HANDLE ) 1 

2 905226 5LTR PAIL( BLUE HANDLE ) 1 

3 905227 5LTR PAIL( GREEN HANDLE ) 1 

4 905228 5LTR PAIL( YELLOW HANDLE ) 1 

5 223614 CLIP ON TRAY 1 

6 906058 SHORT STORAGE BOX 1 

7 901016 DEEP STORAGE BOX 1 

8 906051 REAR UPRIGHT 1 

9 906052 FRONT UPRIGHT 1 

10 339649 LIDSET ASSEMBLY 1 

11 901485 BASE 1 

— 629445 REPLACEMENT 120LTR WASTE SACKS 1 X 10 

0.75HR 



4 

906061 

x 2 x 2 

906060 

M6 X 80 

 

219008 

M6  

 

219642 

M6  

 

x 2 x 2 

x 2 

219555 

M8 X 25 

 

221154 

M8 

 

x 2 

219554 

 

227479 

 

204109 

 

x 4 x 4 

906062 

M6 

x 1 

x 1 



5 

x 2 

906061 

 

x 2 



6 

x 2 

906060 

M6 X 80 

 

219008 

M6  

 

219642 

M6  

 

x 2 x 2 

x 2 



7 

x 2 

219555 

M8 X 25 

 

221154 

M8 

 

x 2 

x 2 



8 

227479 

 

204109 

 

x 4 x 4 



9 



10 



11 



12 


